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Neyman construction




Neyman construction - 2
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Intervals and limits
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Intervals and limits
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Interval on Poisson mean

« Single observation n_,, of a POISSON Process. v = ngps
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Poisson Interval - 2
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* Using the above ralation between chi-sqared and Possion,
we get

a = %F;J(a; nd = 2Nobs),

b = LFZN1—B;na=2(nobs +1))



Poisson Interval -3

* Poisson intervals are conservatively large

» Special case Is zero observation --> upper limit ~ 3
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Error on efficiency- CP interval

 Error on efficiency with binomial error does not work if
efficiency is closeto 1 or O

* Clopper Pearson is a classical interval, known also as an
exact interval

The Clopper-Pearson interval can be written as

S<NS- Source: Wikipedia
or equivalently,

(inf S~ , sup S-)
with

S = {H ‘ P [Bin(n;#) < z] = %} and S- = {H ‘ P [Bin(n;#) > z] > %}

* There are other intervals, Agresti-Coull implemented in ROOT
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